Mistakes in Textbook for Unit F214
	Page
	Mistake

	7
	Oxytocin produced in posterior NOT anterior pituitary gland

	13
	Label dendrites for sensory neurone should read synaptic bulbs at end of branched axon in figure 3

	25
	Glucagon and adrenaline lead to the production of cAMP but insulin does not. 

	45

47 Fig2
	Note: Uptake of glucose is by co-transport with sodium ions 

	49
	Figure 2. Osmoreceptor and ADH-synthesising cell are the wrong way round

	62
	Figure 1b. ADP + Pi NOT ATP + Pi

	63
	Figure 2. 2 reduced NADP formed

Arrow for reduced NADP in wrong direction

	83
	Figure 3. No adenine base shown attached to ribose in structure of CoA

	84
	Figure 1. Fructose-6-phosphate not fructose-1-phosphate

	87
	Note: not all electron carriers contain haem groups.

	93
	Mitoblasts are obtained by placing mitochondria in a solution of HIGH water potential 

	97
	Answer to Stretch and Challenge question (p275) is wrong

	295
	Primary Pigment Reaction Centre should read, PSI = 700nm PSII = 680nm


